
mi`wihnznl dwiqit
ihpeew ipenxd xehliqe`

|ψ〉 = 5|0〉 + 3|1〉 − 2|2〉 i"r x`ezn ipenxd l`ivphet xeaa `vnpd wiwlg .1
.xehliqe`d ly mipey`xd miinvrd miavnd zyely |i〉, i = 0, 1, 2 xy`k

? wiwlgd ly dibx`d ly zccea dcicna lawl ozip mikxr eli` (`)
E0 = h̄ω/2, E1 = 3h̄ω/2, E2 = 5h̄ω/2 md lawl ozipy mikxrd

? el` mikxr lawl zeiexazqdd odn (a)

if` .|φ〉 = |ψ〉/
√
〈ψ|ψ〉 = |ψ〉/

√
38 lawpe lbd zivwpet z` lnxpp

Pr(E = E0) = |〈0|φ〉|2 = 25/38, P r(E = E1) = |〈1|φ〉|2 = 9/38,
P r(E = E2) = |〈2|φ〉|2 = 4/38

(milxbhpi` aygl ila) Ĥ,T̂ , V̂ zlgezd ikxr z` eayg (b)
.dibxp`d ly zlgezd z` dligz aygp

il`ixied htynd t"r ,zrk .〈Ĥ〉 =
∑2

i=0 Pr(E = Ei)Ei = 18h̄ω/19

lawp n = 2 mr 2〈T̂ 〉 = n〈V̂ 〉
〈Ĥ〉 = 〈T̂ + V̂ 〉 = 〈T̂ 〉+ 〈V̂ 〉 = 2〈T̂ 〉 = 2〈V̂ 〉

.〈T̂ 〉 = 〈V̂ 〉 = 〈Ĥ〉/2 = 9h̄ω/19 okle

1


